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AL RE U ZI | MATHEMATICS | Worksheet
Chapter- 17

Perimeter and Area

WORKSHEET

A. FILL IN THE BLANKS:

- The distance around a plane figure is called its pRerumeYer .
- Afarmer who wants to fence his field, must fing the perymeten  of the field.

Perimeter of 3 square with side 15 e¢m is €0 m - .
- Area of a rectangle with length 9 m ang breadth3mis__ 27 m2,

- Theareaof 3 square field with side 11 cm is A sg. cm.
B. CHOOSE THE CORRECT ANSWER:
=———=_"T= LORRECT ANSWER:

Area of a square is side X side

b) Product of al| sides b) sum of all sides

o side x side d) 2  side
The area of a square is equal to the area of 3 rectangle of length = 8 cm and
breadth = 2 cm. what is the side of the square?

‘b‘{a cm

c)8cm d) 16 cm

is the length of 3 rectangle whose areais 72 m? and breadth is 9m.
a) 6m b) 7 m Y8 m d)9m

1square metre is the area of a square of side \ m .

a) 1cm 51 m €)1 mm d) 1 km
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PERIMETER AND AREA

C. SOLVE THE WORD PROBLEMS:

Vidya bought a tablecloth 4 m long and 3 m wide. She wanted to put lace around the
tablecloth.

i.  Find how many metres of lace is required?

ii.  Find total cost of lace, if 1 metre costs X 4.
Ans. Lot = Peymeter of cloth
=2 CY+3)
- 2%T7=14m
Cost of loce
ZIHmXH
=% ¥5¢

2. For the assertion (A) and reason ( R) below, choose the correct alternative.
Assertion (A): Vidya needs to find the perimeter to put lace around the tablecloth.

Reason(R): It is not possible to put lace on the surface of the tablecloth.

a. BothAand R are true and R is the correct explanation of A.

% Both Aand R are True but R is not the correct explanation of A.

c. Aistrue butRis false

d. Aisfalse butR is true.

. ) F
ans. Both A and R ane Twe but Rig nat e cosuect expanadion o

ODM Educational Group





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

